(08/11/13) wef  ASS. REC. BY: 190000 REF: C5/1/10/19	1000961/4473
ASS	IGNMENT
From: Date:  Estimated Cost:  OD / TP / WS / TP RES / OD RES / EVA / INV / MV	Veh No: SLL 3962 2 Yr Regn: 2 K/2/17 Type: M.Car / M.Cycle / Bus / Van / Lorry / Taxi / Prime Mover / Truck / Trailer or CA/
To Inspect Vehicle No: SLL 39622  at Workshop m/s Euro Success  of	Make: KIA FUTH (23 c.c 59/ Colour Black A/C: Insured/Std/NI/NA
Insured: Policy No. Claims No.	Sp.Reading / 7\$7\$6 T/Radio: Insured / Std / NI / NA Eng/No: C/No: KNAFX4//MH566\$6 Gen. Cond: Good Fair / Poor / Burnt
(Client's Record)  Make of Veh:	Steering: Inorder / Jammed / Leaked / Burnt or  Brake: Inorder / Jammed / Leaked / Burnt or  Modi: Nil (SJRIm / STD A/Rim or  Tyre Size: F: 2 D ( )
(Policy Condition)  Remark: The veh had commenced its repair at the time of inspection.  Bal. or Market Value:	R: BS/DUN/EXNOVA/GY/FS/LIZA/MIC/OHTSU/PIR/SUMI/ TOYO/YOKO or Rexen
IDAC Accident Rport: Consistent?: Yes or No GIA / PR Seen: Consistent?: Yes or No Est. Repairs: days Res.: Yes or No Lum Sum: % 3 Val.: Yes or No	Front         Rear           R/Bal.         mm         R/Bal.         mm           L/Bal.         b         mm         L/Bal.         mm           D.O.A.         16/1/1         D.O.I.         21/1/1           Survey held at         mm         D.O.I.         21/1/2
CA / REV REP. / 24 HRS  Date: Person Contacted:  Date / Time	Des. of Damages: Frt / Rear / O/S / N/S / U/C / Rooftop or The U/C / Chassis frame / Body Structure affected due to collision.
Lya Yoyy Mett 13898 atteractor dented Engen head co	socked sapport pand
	rys Of Repair: survey No. of Trip: Transportation:
Add Fee:  Report Format :  Lump Sum / I.B.I: (\$	: Site Insp (\$ )S+RSSI : Interview (\$ ) Photos : Tech. Invs (\$ ) Others : Weekend (\$
)	TOTAL

## EURO SUCCESS SERV PTE. LTD

Blk 1 Kaki Bukit 6, #02-03 Singapore 417883

TFI: 67426231 FAX: 67411019 H/P: 98289277 (AH HUAT)

Vehicle No: SII 39627

Model: KIA FORTE

Not Arthurd Neghe town 1085? 21/1/21

Vehicle No: SLL396	2Z Model: KIA FORTE	
QTY	List Items	Price \$
1	FRONT WINDSCREEN GLASS 41	2200.00 🗶
1	FRONT WINDSCEEN GLASS MOULDING	150.00 7
1	FRONT L-R WINDSCREEN RUBBER @450 0/5 TW	900.00 126
1	FRONT WIPER PANEL	1050.00
1	FRONT WIPER PANEL INSULATOR 11	350.00 🗙
1	FRONT WIPER PANEL GARNISH 1	750.00 🔾
1 SET	FRONT WIPER LINKAGE 12	750.00 🗶
1	FRONT WIPER MOTOR 11	1050.00 🗙
2	FRONT L-R WIPER ARM @120 17	240.00 <b>X</b>
1	FRONT BUMPER MIS	1200.00
1	FRONT BUMPER REFORCEMENT PL	850.00
1	FRONT BUMPER GRILLE M.J	450.00
1	FRONT BUMPER FOG LAMP L-R @414	828.00 ?
1	FRONT L-R BUMPER FOG LAMP COVER @169 M 'S	338.00 ?
2	FRONT BUMPER SIDE RETAINERS L-R @90 , Sur	180.00
2	FRONT L-R HEADLAMP @1150 holderen	2300.00
2	FRONT L-R HEADLAMP LOWER BRACKET @220 17	440.00 <b>४</b>
2 SET	FRONT L-R HEADLAMP WIRE HARNESS @550	1100.00 🗶
2	FRONT L-R FENDER @850 W/s 80 0/5 1	1700.00 IFC
2	FRONT L-R FENDER INNER SHIELD @350 TOTA	700.00 —
2	FRONT L-R FENDER INNER PANEL @590	1180.00 🗴
2	FRONT L-R FENDER INNER GARNISH @398 🥕	796.00 🗶
1	FRONT BONNET	1150.00
2	FRONT BONNET HINGE L-R @ 125	250.00
1	FRONT BONNET LOCK 1w1	350.00
1	FRONT BONNET SEAL NE	95.00
1	FRONT BONNET INSULATOR	350.00
1	FRONT SELT BELT L/H 17	750.00 🔀
1	FRONT CHASSIS CROSS MEMBER	2250.00 ?
1	FRONT CHASSIS FRAME INNER 12	1850.00 🗶
1	FRONT CHASSIS FRAME OUTER $\sim$	1855.00 X
1	FRONT DASH BOARD PANEL 12	1950.00 🗶
1	FRONT AIR INTAKE ASSY Manifold cre	1350.00
1	Conduser Pis	750.00
1	RADIATOR ASSY	1788.00
1	RADIATOR TOP FRAME BRACKET	250.00
2	RADIATOR TOP MOUNTING @25	50.00
1	RADIATOR TOP HOSE	75.00 <b>7</b>
1	RADIATOR BOTTOM HOSE 1	97.00 X
1	RADIATOR FAN COWLING CAL	480.00
1	RADIATOR FAN BLADE	250.00 <b>?</b> 450.00 <b>?</b>
1	RADIATOR FAN MOTOR	450.00

	0.1.4. 0000 4.16	
1	Rodiofor Spare Tank RADIATOR SPARE TANK D15 55000	
1	KADIATOR SPARE TANK HOSE 95.00 ?	
1	RADIATOR LOWER MEMBER 750.00	
2	RADIATOR LOWER MOUNTING @25.5 51.00	
1	BATTERY TRAY 100.00 X	
1	BATTERY BRACKET 11 88.00 ×	
1	EXHAUST MANIFOLD 2200.00 ?	
1	EXHAUST MANIFOLD COVER 250.00 ?	
1	EXHAUST MANIFOLD SENSOR 450.00 7	
1	EXHAUST PIPE FRONT SECTION 950.00 7	
2	ENGINE MOUNTING L-R @350 700.00 <b>7</b>	
1	ENGINE MOUNTING CENTRE 250.00 7	
1	ENGINE MOUNTING BRACKET 330.00 7	
1	ENGINE MOUNTING REAR 340.00 7	
1	MAIN FUSE BOX ASSY 1230.00 7	
1	DASH BOARD 1 2500.00 X	
2	HORN @ 95 190.00?	
1	TOP HAROOF ROCKER PANEL RM R 3500.00 ×	
1	TOP ROOF PANEL 8 5000.00 X	
1	TOP ROOF PANEL INNER INSULATOR lining word 2500.00	
	J/~	
	TOTAL \$57,916.00	
	LESS 20% \$11,583.20	
	TOTAL \$46,332.80	
	Special Nett Items	
20	FRONT FENDER INNER SHIELD CLIPS @4.50 Au 90.00 40	
20	FRONT BUMPER CLIP @4.5 2U 90.00 40	
20	FRONT GRILLE CLIP @4.5 11 90.00 X	
20	FRONT BONNET INSULATOR CLIP @5 AM 100.00 40	
1	BATTERY 11 350.00 x	
1 TIN	COOLENT 121 60.00 20	
1 TIN	AIRCON C <del>OOLEN</del> T <b>6'</b> 1	
	\$840.00	
	<u>Labour Charges</u>	
TOWING CHARGES	250.00 7. \$1/	
TO REMOVE AND RE	FIX ROOF TOP PANEL 1.1.4 1800.00 150	
TO RESPRAY UNDER		
TO REMOVE, REFIX D	ASHBOARD 450.00 X	
TO REMOVE ENGINE	TOO ASSITST REPAIR FOR CHASSIS ALIGNMENT bundercorrept 850.00 SOO	
TO REMOVE, REFIX II	NTERIOR TRIMS TO ASSIST REPAIR 250.00 X	
TO RESPRAY PAINTIN	G AND ETC 2000.00 <b>950</b>	
PANEL BEATING, ALI	SNMENT, REMOVE AND REPLACING AOVE PARTS 2500.00 1500	,
	get Augraphy is the local notify	
	\$8,550.00 ·	
	Taireut review on the attentionary painting     Torousplay lauringed part(s) during resurvey	
ESTIMATE PAI	RTS AND LABOUR GRAND TOTAL Confirmation \$55,722.80	
FO I HAIW I F I, WI	Third party survey is the Vitalout Popular	
	<ul> <li>No illegal modification(s) is allowed</li> <li>Supplementary ilem(s) must be resurveyed and</li> </ul>	
	is subject to final approval from Insurance Company	

Acknowledged by Pepalter

# > Back to OneMotoring

**Enquire PARF/COE Rebate for Registered Vehicle** 

/ehicle Owner Particulars	
Owner ID Type:	Singapore NRIC
Owner ID: /ehicle Details	975H
/ehicle No.:	SLL3962Z
/ehicle to be Exported:	No
ntended Deregistration Date:	21 Jan 2021
/ehicle Make:	KIA
/ehicle Model:	FORTE K3 1.6A
Primary Colour:	Brown
Manufacturing Year:	2016
Engine No.:	G4FGGH658718
Chassis No.:	KNAFX411MH5668680
Maximum Power Output:	95.3 kW (127 bhp)
Open Market Value:	\$14,626.00
Original Registration Date:	24 Feb 2017
First Registration Date:	24 Feb 2017
Transfer Count:	0
Actual ARF Paid: Intended PARF Rebate Details	\$14,626.00 73/)
PARF Eligibility:	Yes
PARF Eligibility Expiry Date:	23 Feb 2027
PARF Rebate Amount: Intended COE Rebate Details	\$10,969.00
COE Expiry Date:	23 Feb 2027
COE Category:	A - Car up to 1600cc & 97kW (130bhp)
COE Period(Years):	10
QP Paid:	\$48,401.00
COE Rebate Amount:	\$29,472.00
Total Rebate Amount:	\$40,441.00

The information contained herein is correct as at 21 Jan 2021

ОК

### SGCARMART.COM

Sian Login

**New Cars** 

**Used Cars** 

**Rental Cars** 

Sell My Car

Directory

**Products** 

Insurance

Articles

21 - 24 JANUARY 2021

10AM TO 6PM | 1<sup>ST</sup> CAR EVENT OF THE YEAR! 247 ALEXANDRA ROAD S(159934)



Post an Advertisement Sell it yourself! Advertise it at just

\$58 until it's SOLD!

Beautiful Honda Stream Blue.



Nice Ride On The Road. Direct Owner StarAd

YONG LEE SENG

Browse by Category

Post an Ad

Advertiser Login v

Ways of Selling

« Back (12) Next »

Sort by Date Posted

36 vehicles

kia k3

Model

Price

Depreciation

Reg Date

Eng Cap

Mileage

Advanced Search

Veh T

Search Selection

kia k3

Make

2017

Any

Any

Se

Kia Cerato K3 1.6A

\$59,800

\$8,000 /yr

20-Oct-2017

1,591 cc

50,000 km

1 Careful Owner. Genuine Low Mileage Done. Fully Maintained 5Years Agent Warranty By Cycle & Carriage! Always Parked In Shelter. 100% Accident Free. Point A To Point B Usage. Peace Of Mind Purchase. Trade In Welcome! Bank/In House Loan Available. Pls Call For...

Posted: 16-Jan-2021 Tags: 2017 Kia Cerato, Kia Cerato, Kia, Cerato



Kia Cerato K3 1.6A

\$60,800

\$7,890 /yr

20-Dec-2017

1,591 cc

44,713 km

Se

100% Loan Available! 1 Owner! Full Agent Service! Premium Grooming And Certificate Sanitizing. Before Handing Over. Confident Buying From A sgCarMart Premium Dealer! No Waiting, Immediate Delivery. Feel Free To Contact.

1axis

Posted: 16-Jan-2021 Tags: 2017 Kia Cerato, Kia Cerato, Kia, Cerato



Kia Cerato K3 1.6A

\$60,500

\$7,960 /yr

30-Nov-2017

1,591 cc

47,000 km

Se

We Provide Door Steps Viewing, 1 Owner, Road Tax Till 28 May 2021, C&C 5 Years Warranty With Service Record Provided, Low Mileage Done, Original Paint, Accident Free, Neat And Clean Interior And Exterior, Flexible Loan Available, Call For Viewing To Test Drive Today.

Posted: 15-Jan-2021 Tags: 2017 Kia Cerato, Kia Cerato, Kia, Cerato



Kia Cerato K3 1.6A

\$59,800

\$8,270 /yr

25-Jul-2017

1,591 cc

S€

Huge Savings With Lowest Price Tag Need No Compare With Others, Well Maintained With Only 1 Owner, Best Fuel Efficiency Low Maintenance Unit In The Market, Immediate Ownership Transfer Upon Handover, Flexible Loan, Trade In Welcome, Please Contact Dire...

AL Autocar Pte Ltd

Posted: 14-Jan-2021 Tags: 2017 Kia Cerato, Kia Cerato, Kia, Cerato



How the new VES affects you as a car buyer

More than half the cars in this list face a hike in taxes, no thanks to the new Vehicular Emissions Scheme. Find out how this affects you as a Read this article

Compare

Cerato K3 1.6A SX Sunroof

\$62,800

\$8,570 /yr

08-Jun-2017

1,591 cc

60,713 km

Se

https://www.sgcarmart.com/used\_cars/listing.php?BRSR=20&MOD=kia+k3&RPG=20&AVL=2&VEH=0&RGD=2017

1/3

#### Used kia k3 Cars | Singapore Car Prices & Listing - sgCarMart



Rare Snow Pearl White K3 1.6A, Highest Specs SX Model With Loads Of High Tech Features. Maintained At C&C With Proof/5-yrs Warranty. Genuine Low Mileage Done 60713km. New Car Feel/Smell Still Intact. 1 Uncle Owner. Road Tax Till Jun 21. 100% Accident Fr...

Lake View Credit Pte Ltd

Posted: 14-Jan-2021 Tags: 2017 Kia Cerato, Kia Cerato, Kia, Cerato



Kia Cerato K3 1.6A SX Sunroof \$61,800 \$8,220 /yr 10-Aug-2017 1,591 cc 79,145 km

1 Owner High Spec SX Model With Bodykit & Sunroof. 5 Years Warranty From C&C. Non-PHV. Smooth And Fuel Efficient Sedani Zero
Downpayment Available. 100% Approval Rate. Flexible Loan And Insurance Packages. Call Today To Enquirel STA Evaluation Welcome!...

Posted: 13-Jan-2021 Tags: 2017 Kia Cerato, Kia Cerato, Kia, Cerato



Kia Cerato K3 1.6A \$58,800 \$7,650 /yr 30-Nov-2017 1,591 cc 63,751 km Se

100% Loan Available! 1 Owner! Full Agent Service! Premium Grooming And Certificate Sanitizing. Before Handing Over. Confident Buying From A sgCarMart Premium Dealer! No Waiting, Immediate Delivery. Feel Free To Contact.

1axis

Posted: 12-Jan-2021 Tags: 2017 Kia Cerato, Kia Cerato, Kia, Cerato



Kia Cerato K3 1.6A \$58,800 \$8,310 /yr 29-May-2017 1,591 cc 67,000 km Se Accident Free, Original Condition, Don't Miss Before It's Gone. Excellent Condition, 100% Loan Available, Accept Trade In, In House

Fu Yiap Motor Trading

Posted: 11-Jan-2021 Tags: 2017 Kia Cerato, Kia Cerato, Kia, Cerato

Finance Available, Excellent Condition, Trade In Available! Call Us Now.



Kia Cerato K3 1.6A \$56,800 \$8,090 /yr 02-May-2017 1,591 cc 64,768 km S€

1 Owner! 5 Years Warranty With Agent Till 5/2022. Original Paintwork! Beautiful Condition. View To Believe! Hassle-Free Loan Arrangement! Call Now!

Posted: 08-Jan-2021 Tags: 2017 Kia Cerato, Kia Cerato, Kia, Cerato



Kia Cerato K3 1.6A Sunroof \$64,800 \$8,620 /yr 28-Aug-2017 1,591 cc 40,000 km Se

The New Face-lifted Kia K3, With All New Kia Signature "Tiger Nose Grill", Redesigned LED Headlamps With DRL & All New Redesigned
Front & Rear Bumper, Now Giving The Car A Whole New Angular And Sporty Look! Equipped With New Feature Like Smart Trunk Releas...

Posted: 06-Jan-2021 Tags: 2017 Kia Cerato, Kia Cerato, Kia, Cerato



### Get your car loan approved before you shop

OCBC Car Loan. Now redefined. Apply online with MyInfo and get your loan approved in 60 seconds before visiting the showroom so you can with confidence! T&Cs apply.

Learn More



Kia Cerato K3 1.6A SX Sunroof \$60,800 \$8,280 /yr 05-Jun-2017 1,591 cc 69,000 km Se

100% Loan Available! AA Trust Certified Quality Vehicle! High Specs SX Model! Fully Maintained And Serviced By Agent (C&C) With 5 Years Warranty! Decent Bodykit With Interior And Leather Seat Just Like New! Spacious Boot And Legroom Space For All! This Is The Pe...

AA Trust Automotive

Posted: 04-Jan-2021 Tags: 2017 Kia Cerato, Kia Cerato, Kia, Cerato



Kia Cerato K3 1.6A \$54,888 \$7,690 /yr 20-Jan-2017 1,591 cc 70,000 km

Low Mileage Unit! Still Under Warranty With Cycle And Carriage! Very Pristine Condition. Well Taken Car Interior By Current Owner! Get

Low Mileage Unit! Still Under Warranty With Cycle And Carriage! Very Pristine Condition. Well Taken Car Interior By Current Owner! Gel Your Hands On This Before It's Gone! High Loans/Trade-In Available! Call/WhatsApp Now To View Now!

Monster Motors Pte Ltd

Posted: 04-Jan-2021 Tags: 2017 Kia Cerato, Kia Cerato, Kia, Cerato

Compare 2erato K3 1.6A SX Sunroof \$61,500 \$8,580 /yr 12-Apr-2017 1,591 cc 90,000 km S

Se

Se